Filters: Start Date - 11/10/2000; End Date - 11/10/2025; Equipment - 331G JD SKID STEER [8951]

Dø9-8

Work Order:

20406

Equipment:

331G JD SKID STEER [8951]

Nork Location:

Created by:

Randy Wearmouth

Kms:

2942

Hr:

2943

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

1T0331GKELF390092

Machinery

Work Order Cost Summary

Quantity Labor Type	Rate	Total
	Total Labor	\$0.00
1.00 Each	\$202.09	\$202.09
1.00 Each	\$160.80	\$160.80
1.00 Each	\$15.83	\$15.83
1.00 Each	\$46.48	\$46.48
	Total Parts	\$425.20
	Total Equip	\$0.00
	Total Cost	\$425.20
	1.00 Each 1.00 Each 1.00 Each	1.00 Each \$202.09 1.00 Each \$160.80 1.00 Each \$15.83 1.00 Each \$46.48 Total Parts Total Equip

Item ID I	Description	Completed By	Reported Hours
36765 8	8951 - DIRECT BILL	Randy Wearmouth	0.00
)			
Work Order:	20475	Status:	Transferred
quipment:	331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Location	n: Current Equipment Location	Business Unit:	Machinery
Created by:	Marvin Feddema	Start Date:	4/25/2021
Kms:	2942	Stop Date:	5/10/2021
Hr:	2943		

Work Order Cost Summary

Description	12 . F 24 . F 2 . D 34 . Ty . D 34 . Ty . D 34 . Ty . D 34 . D 34 . D 34 . D 34 . D	Quantit	y Labor Type	Rate	Total
JASON HOLLINGSV	ORTH .	1.50 RT	Shop Mech Field	\$54.00	\$81.00
	2 18			Total Labor	\$81.00
				Total Parts	\$0.00
1				Total Equip	\$0.00
				Total Cost	\$81.00

Notes: 8951 rig up new unit

em ID	Des	cription	Completed By	Reported Hours
36904	895	1 rig up new unit	Carla Merklin	1.50

20636

Equipment:

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location

Created by:

Brian MacDonald

Kms: Hr:

2942 2943

Status:

Serial Number:

Transferred 1T0331GKELF390092

Machinery

Business Unit: Start Date:

5/16/2021

Stop Date:

5/16/2021

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
BRIAN MACDONALD	3.00 RT Shop Mech Field	\$54.00	\$162.00
		Total Labor	\$162.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$162.00

Item ID	Description	Completed By	Reported Hours
37178	8951 rig up	Carla Merklin	3.00

Work Order: **Equipment:**

21937

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location Carla Merklin

Created by: Kms:

2942

Hr:

2943

Status:

Transferred

Serial Number:

1T0331GKELF390092

Business Unit: Start Date:

Machinery 7/6/2021

Stop Date:

7/6/2021

Description	Quantity Labor Type	Rate	Total
AARON SAMUELSON	2.00 RT Shop Mech Field	\$54.00	\$108.00
		Total Labor	\$108.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$108.00

Item ID	Description		Completed By	Reported Hours

22256

ह्quipment:

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location

Created by:

Stockton Pollitt

Kms: Hr:

2942 2943 Status:

Transferred

1T0331GKELF390092

Serial Number: Business Unit:

Machinery 7/16/2021

Start Date: Stop Date:

8/7/2021

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO	1.00 RT Shop Lube	\$38.00	\$38.00
		Total Labor	\$38.00
ENGINE AIR FILTER [P828889 {xr AF25557, 1106326}]	1.00 Each	\$23.55	\$23.55
ENGINE AIR FILTER [P829333 {xr AF25558, 1106331}]	1.00 Each	\$13.15	\$13.15
FILTER LUBE SPIN-ON {MIU800650} [LF3776]	1.00 Each	\$7.59	\$7.59
		Total Parts	\$44.29
		Total Equip	\$0.00
		Total Cost	\$82.29

Item ID	Description	Completed By	Reported Hours
40143	0250 Hour Service	Carla Merklin	1.00

- * Change engine oil.

 * Change engine filters -- oil and air.

 * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order:

23140

Equipment:

331G JD SKID STEER [8951]

Work Location: Created by:

Kms:

Hr:

Current Equipment Location

Carla Merklin

2942 2943

Status:

Transferred

Serial Number:

Business Unit:

Machinery

1T0331GKELF390092

Start Date:

8/14/2021

Stop Date:

8/15/2021

Description	Quantity Labor Type	Rate	Total
JASON HOLLINGSWORTH	2.00 RT Shop Mech Field	\$54.00	\$108.00
		Total Labor	\$108.00
HYD QUI [AT406474]	1.00 Each	\$140.61	\$140.61
HYD QUI [AT406474]	1.00 Each	\$140.61	\$140.61
O-RING [51M7045]	1.00 Each	\$7.11	\$7.11
O-RING [T77932]	1.00 Each	\$5.89	\$5.89
		Total Parts	\$294.22
		Total Equip	\$0.00
		Total Cost	\$402.22

Item ID	Description	Completed By	Reported Hours
42116	8951 - CHECK LEAK AND REPLACE MALE AUX COUPLER	Carla Merklin	2.00
Work Orde	ı r: 23894	Status:	Transferred
Equipment	331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092

Business Unit:

Start Date:

Stop Date:

Machinery

9/1/2021

9/1/2021

Created by: Carla Merklin Kms: 2942

Current Equipment Location

Hr: 2943

Work Order Cost Summary

Work Location:

Description	Quantity Labor Type	Rate	Total
TEVIN FERRIS	2.00 RT Shop Mech Field	\$54.00	\$108.00
		Total Labor	\$108.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$108.00

Item ID	Description	Completed By	Reported Hours
43580	8951 - cutting edge	Carla Merklin	2.00
Work Orde	r: 24321	Status:	Transferred
Equipment	: 331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Loca	tion: Current Equipment Location	Business Unit:	Machinery
Created by	: Stockton Pollitt	Start Date:	12/21/2021
Kms:	2942	Stop Date:	12/21/2021
Hr:	2943		

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00 RT Shop Lube	\$38.00	\$114.00
		Total Labor	\$114.00
FILTER [MIU802154]	1.00 Each	\$70.10	\$70.10
FILTER AIR {P828889, 1106326} [AF25557]	1.00 Each	\$23.08	\$23.08
FILTER AIR {P829333, 1106331} [AF25558]	1.00 Each	\$13.15	\$13.15
FILTER LUBE SPIN-ON {MIU800650} [LF3776]	1.00 Each	\$19.13	\$19.13
		Total Parts	\$125.46
		Total Equip	\$0.00
		Total Cost	\$239.46

Item ID	Description	Completed By	Reported Hours
44354	0500 Hour Service	Anthony Rodriguez	3.00

- * Change engine oil.

 * Change engine filters -- oil and air.

 * Change fuel filter.

 * Check all fluids.

- * Complete grease.
- * Sample all oils.

Vork Order: 24974 Status: Transferred 331G JD SKID STEER [8951] **Equipment:** 1T0331GKELF390092 **Serial Number: Work Location: Current Equipment Location Business Unit:** Machinery Created by: Carla Merklin **Start Date:** 10/15/2021 Kms: 2942 **Stop Date:** 10/18/2021 2943 Hr:

Description	Quantity Labor Type	Rate	Total
AARON SAMUELSON	4.00 RT Shop Mech Field	\$54.00	\$216.00
		Total Labor	\$216.00
CUTTING BLADE 84" (7') 8 BOLT 3/4 X 2-1/4" [KV12471X]	1.00 Each	\$175.23	\$175.23
SUMMER TRUCK WIPER BLADE 18" - J-HOOK [WP18031]	1.00 Each	\$4.90	\$4.90
		Total Parts	\$180.14
		Total Equip	\$0.00
		Total Cost	\$396.14

Item ID	Description	Completed By	Reported Hours
45775	8951 - check over	Carla Merklin	4.00

31889

Equipment:

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

2942 2943 Status:

Transferred 1T0331GKELF390092

Serial Number:

Business Unit:

Machinery

Start Date:

5/31/2022

Stop Date:

6/6/2022

Work Order Cost Summai	y
------------------------	---

Description	Quantity Labor Type	Rate	Total
TEVIN FERRIS	3.00 RT Shop Mech Field	\$59.34	\$178.02
		Total Labor	\$178.02
BOLT KIT [PB750250ITR]	8.00 Each	\$2.46	\$19.68
CUTTING EDGE [KV12471]	1.00 Each	\$215.44	\$215.44
SPROCKET [T254141ITR]	2.00 Each	\$315.23	\$630.46
		Total Parts	\$865.58
		Total Equip	\$0.00
		Total Cost	\$1,043.60

Item ID	Description	Completed By	Reported Hours
58634	8951 - cutting edge	Carla Merklin	3.00

Work Order: **Equipment:**

32380

331G JD SKID STEER [8951]

Current Equipment Location

Work Location: Created by:

Stockton Pollitt

Kms: 2942 Hr: 2943 Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

1T0331GKELF390092 Machinery

Transferred

6/28/2022 6/28/2022

Description	Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00 RT Shop Lube	\$41.17	\$82.34
		Total Labor	\$82.34
FILTER AIR {P829333, 1106331, AT171854} [AF25558]	1.00 Each	\$22.93	\$22.93
FILTER LUBE SPIN-ON (MIU800650,P502051) [LF3776]	1.00 Each	\$7.01	\$7.01
	Total Parts	Total Parts	\$29.94
		Total Equip	\$0.00
		Total Cost	\$112.28

Item ID	Description	Completed By	Reported Hours
			<u> </u>
59367	0250 Hour Service	Carla Merklin	2.00

^{*} Change engine oil.

^{*} Change engine filters -- oil and air.

^{*} Check all fluids.

^{*} Complete grease.

32611

Equipment:

331G JD SKID STEER [8951]

Work Location: Created by:

Current Equipment Location Carla Merklin

Kms:

2942 2943

Hr:

Status:

Transferred

Serial Number:

1T0331GKELF390092

Business Unit: Start Date:

Machinery 6/25/2022

Stop Date:

6/30/2022

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
TEVIN FERRIS	2.00 RT Shop Mech Field	\$59.34	\$118.68
ZANE BARNETT	2.50 RT Shop Mech Field	\$59.34	\$148.35
		Total Labor	\$267.03
PIN [T356410]	1.00 Each	\$210.22	\$210.22
		Total Parts	\$210.22
		Total Equip	\$0.00
		Total Cost	\$477.25

Item ID	Description		Completed By	Reported Hours
0031	8951 - repla	ce rod bushing	Carla Merklin	4.50
Work Order:		34014	Status:	Transferred
Equipment:		331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Location	n:	Current Equipment Location	Business Unit:	Machinery
Created by:		Carla Merklin	Start Date:	8/15/2022
Kms:		2942	Stop Date:	8/15/2022
Hr:	1	2043		

Description	Quantity Lai	bor Type	Rate	Total
BARTLEY WEST	3.50 RT Sho	op Weld Field	\$55.71	\$194.99
KENDRICK ROBINSON	3.00 RT Sho	op Mech Rky	\$49.05	\$147.15
TEVIN FERRIS	3.00 RT Sho	op Mech Field	\$59.34	\$178.02
			Total Labor	\$520.16
			Total Parts	\$0.00
		***	Total Equip	\$0.00
			Total Cost	\$520.16

.em ID	Description	Complete	d By	Reported Hours

34217

Equipment:

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location

Created by:

Stockton Pollitt

Kms: Hr:

2942 2943

Status:

Serial Number: Business Unit:

Start Date:

Stop Date:

Transferred 1T0331GKELF390092

Machinery

8/19/2022 8/19/2022

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
LEVI LOOMIS	1.00 RT Shop Mech Field	\$59.34	\$59.34
STEVEN MICKLEBORO	1.00 RT Shop Lube	\$41.17	\$41.17
		Total Labor	\$100.51
FILTER [MIU805005 {XR MIU802154}]	1.00 Each	\$77.03	\$77.03
FILTER AIR [AT359416]	1.00 Each	\$26.32	\$26.32
FILTER AIR [AT441536]	1.00 Each	\$31.28	\$31.28
FILTER AIR {P828889, 1106326, KV16429, AT171853} [P828889]	1.00 Each	\$34.15	\$34.15
FILTER AIR {P829333, 1106331, AT171854} [AF25558]	1.00 Each	\$22.46	\$22.46
FILTER ELEMENT {MIU802421} [WF10369]	1.00 Each	\$42.39	\$42.39
FILTER FUEL IN-LINE {P550090, NGF3003} [FF5006]	1.00 Each	\$4.61	\$4.61
FILTER LUBE SPIN-ON (MIU800650,P502051) [LF3776]	1.00 Each	\$17.66	\$17.66
HYDRAULIC FILTER [AT495722]	1.00 Each	\$148.39	\$148.39
HYDROSTATIC OIL FILTER {AT367635, AT314164} [CHF35299]	1.00 Each	\$55.06	\$55.06
		Total Parts	\$459.36
		Total Equip	\$0.00
		Total Cost	\$559.87

Item ID	Description	Completed By	Reported Hours
62467	1000 Hour Service	Carla Merklin	2.00

- * Change all filters.
- * Change engine oil.
- * Change final drive oil.
- * Change hydraulic oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: 35608 331G JD SKID STEER [8951] **Equipment: Work Location: Current Equipment Location** Created by: Carla Merklin 2942 Kms: Hr: 2943

Status:

Serial Number: Business Unit: Start Date:

Transferred 1T0331GKELF390092

Machinery 10/4/2022 **Stop Date:** 10/4/2022

Description	Quantity Labor Type	Rate	Total
JOHN GIBERSON	4.00 RT Shop Mech Rky	\$49.05	\$196.20
		Total Labor	\$196.20
1/2 NON-SPILL NIPPLE [FEM-502-8FP]	1.00 Each	\$24.53	\$24.53
		Total Parts	\$24.53
		Total Equip	\$0.00
		Total Cost	\$220.73

Item ID [Description	Completed By	Reported Hours
65621 8	8951 - check over	Carla Merklin	4.00
Work Order:	36383	Status:	Transferred
Equipment:	331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Location	n: Current Equipment Location	Business Unit:	Machinery
Created by:	Marvin Feddema	Start Date:	10/25/2022
Kms:	2942	Stop Date:	10/27/2022
Hr:	2943		

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
JOHN GIBERSON	1.00 RT Shop Mech Rky	\$49.05	\$49.05
		Total Labor	\$49.05
COVER [Custom]	2.00 Each	\$33.25	\$66.50
COVER[Custom]	1.00 Each	\$558.42	\$558.42
FILTER STRAI[Custom]	1.00 Each	\$47.58	\$47.58
		Total Parts	\$672.50
		Total Equip	\$0.00
		Total Cost	\$721.55

Notes: 8951 install fuel screen

Item ID	Description	Completed By	Reported Hours
67019	8951 install fuel screen	John Giberson	1.00
8951 inst	all fuel screen		

Work Order:
quipment:
.Vork Location:
Created by:

40337 331G JD SKID STEER [8951] Current Equipment Location Brittinni Lockard Status:
Serial Number:
Business Unit:
Start Date:

Transferred 1T0331GKELF390092 Machinery 3/8/2023

Kms: Hr:

2942

2943

Stop Date:

3/8/2023

Transferred

Machinery

1T0331GKELF390092

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
LEVI LOOMIS	1.00 RT Shop Mech Field	\$59.34	\$59.34
		Total Labor	\$59.34
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$59.34

Item ID	Description	Completed By	Reported Hours
73510	0250 Hour Service	Brittinni Lockard	1.00

- * Change engine oil.
 * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
 * Sample engine oil.

Work Order:

41528

Equipment:

331G JD SKID STEER [8951]

Work Location:

Created by:

Brittinni Lockard

Kms:

Hr:

2942

2943

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
76641	8951 - BRANDT CHECK OVER	Brittinni Lockard	0.00

42738

Equipment: Work Location: 331G JD SKID STEER [8951]

■Çreated by:

Current Equipment Location

۸ms:

Carla Merklin 2942

Hr: 2943 Status:

Transferred

Serial Number:

Business Unit:

1T0331GKELF390092 Machinery

Start Date:

Stop Date:

5/26/2023 5/26/2023

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
AARON SAMUELSON	2.00 RT Shop Mech Field	\$59.34	\$118.68
LEVI LOOMIS	3.00 RT Shop Mech Field	\$59.34	\$178.02
		Total Labor	\$296.70
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$296.70

Item ID	Description	Completed By	Reported Hours
78785	8951 - fix engine oil leak	Brittinni Lockard	5.00

Work Order:

42811

.quipment:

331G JD SKID STEER [8951]

Work Location: Created by: Kms:

Brittinni Lockard

Hr:

Current Equipment Location

2942

2943

Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Transferred

1T0331GKELF390092

Machinery 6/6/2023

6/6/2023

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	5.00 RT Shop Lube	\$41.17	\$205.85
		Total Labor	\$205.85
FILTER {XR MIU802154} [MIU805005]	1.00 Each	\$81.00	\$81.00
FILTER AIR {P828889, 1106326, KV16429, AT171853, AF25557} [P828889]	1.00 Each	\$57.23	\$57.23
FILTER AIR {P829333, 1106331, AT171854} [AF25558]	1.00 Each	\$54.97	\$54.97
FILTER ELEMENT (MIU802421) [WF10369]	1.00 Each	\$ 44 .17	\$44.17
FILTER LUBE SPIN-ON (MIU800650,P502051,46495073) [LF3776]	1.00 Each	\$12.48	\$12.48
		Total Parts	\$249.85
		Total Equip	\$0.00
		Total Cost	\$455.70

em ID	Description	Completed By	Reported Hours
			<u>,</u>
78910	0500 Hour Service	Anthony Rodriguez	5.00

* Change engine oil.

* Change engine filters -- oil and air.

* Change fuel filter.

* Check all fluids.

* Complete grease.

* Sample all oils.

Work Order:

43690

Equipment:

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms:

2942

Hr:

2943

Status:

Transferred

Serial Number:

1T0331GKELF390092

Business Unit: Start Date:

Machinery 6/27/2023

Stop Date:

6/27/2023

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
JOHN BARGEN	4.00 RT Shop Mech Field	\$59.34	\$237.36
		Total Labor	\$237.36
1/8-INCH PT STRAIGHT GREASE ZERK [JD7759]	4.00 Each	\$1.19	\$4.76
BUSHING [T259579]	2.00 Each	\$111.20	\$222.40
BUSHING [T342204]	2.00 Each	\$169.31	\$338.62
BUSHING ROD END BUCKET CYLINDER [H177195]	2.00 Each	\$59.67	\$119.34
CAP SCREW[Custom]	2.00 Each	\$7.60	\$15.20
LOCK NUT[Custom]	2.00 Each	\$2.03	\$4.06
NUTNUT[Custom]	2.00 Each	\$6.52	\$13.04
PIN BUCKET CYLINDER ROD EYE [T377560]	2.00 Each	\$118.87	\$237.74
PLUG [N102025]	2.00 Each	\$16.97	\$33.94
QUICK ATTACH BOLT [T368822]	2.00 Each	\$77.70	\$155.40
SEAL - ROD END BUCKET CYLINDER [AT316728]	4.00 Each	\$21.01	\$84.04
SEAL [KV15887]	2.00 Each	\$9.45	\$18.90
WASHER [24M7344]	4.00 Each	\$4.77	\$19.08
		Total Parts	\$1,266.52
		Total Equip	\$0.00
		Total Cost	\$1,503.88

Item ID	Description	Completed By	Reported Hours
80403	8951 - REPAIRS	Carla Merklin	4.00

Work Order:

44470

Equipment: Work Location: 331G JD SKID STEER [8951] **Current Equipment Location**

Created by:

Kms:

2942

Carla Merklin

Status:

Transferred **Serial Number:** 1T0331GKELF390092

Business Unit: Start Date:

Stop Date:

Machinery 7/20/2023

7/20/2023

Description	Quantity Labor Type Rate	Total
AARON SAMUELSON	1.00 RT Shop Mech Field \$59.34	\$59.34
	Total Labor	\$59.34
	Total Parts	\$0.00
	Total Equip	\$0.00
	Total Cost	\$59.34

Item ID	Description	Completed By	Reported Hours
81739 8	9951 - FIX HYD LEAKS	Brittinni Lockard	1.00
Work Order:	45033	Status:	Transferred
Equipment:	331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Location	Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	8/9/2023
Kms:	2942	Stop Date:	8/9/2023
Hr:	2943		

Description	Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO	0.50 RT Shop Lube	\$41.17	\$20.59
		Total Labor	\$20.59
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$20.59

Item ID	Description	Completed By	Reported Hours
81946	0250 Hour Service	Brittinni Lockard	0.50

- * Change engine oil.
 * Change engine filters -- oil and air.
 * Check all fluids.
 * Complete grease.
 * Sample engine oil.

Work Order: **Equipment:**

45620

Work Location:

331G JD SKID STEER [8951] **Current Equipment Location**

Created by:

Brittinni Lockard

Kms:

Hr:

2942

2943

Status:

Serial Number:

Transferred 1T0331GKELF390092

Business Unit:

Start Date: Stop Date:

Machinery 8/28/2023

8/28/2023

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
LEVI LOOMIS	2.00 RT Shop Mech Field	\$59.34	\$118.68
TREVOR IRONSIDE	13.50 RT Shop Weld Field	\$55.71	\$752.09
		Total Labor	\$870.77
1/8-INCH PT STRAIGHT GREASE ZERK [JD7759]	4.00 Each	\$1.19	\$4.76
BUSHING [T259579]	2.00 Each	\$111.20	\$222.40
BUSHING [T342204]	2.00 Each	\$169.31	\$338.62
BUSHING ROD END BUCKET CYLINDER [H177195]	2.00 Each	\$59.67	\$119.34
CAP SCREW[Custom]	2.00 Each	\$7.60	\$15.20
LOCK NUT[Custom]	2.00 Each	\$2.03	\$4.06
NUTNUT[Custom]	2.00 Eady	\$6.52	\$13.04
PIN BUCKET CYLINDER ROD EYE [T377560]	2.00 Each	\$118.87	\$237.74
PLUG [N102025]	2.00 Each	\$16.97	\$33.94
QUICK ATTACH BOLT [T368822]	2.00 Each	\$77.70	\$155.40
SEAL - ROD END BUCKET CYLINDER [AT316728]	4.00 Each	\$21.01	\$84.04
SEAL [KV15887]	2.00 Each	\$9.45	\$18.90
Washer [24M7344]	4.00 Each	\$4.77	\$19.08
		Total Parts	\$1,266.52
		Total Equip	\$0.00
		Total Cost	\$2,137.29

Item ID	Description	n	Completed By	Reported Hours
83701	8951 - CUT	TING EDGE	Brittinni Lockard	15.50
Work Orde	ır:	46543	Status:	Transferred
Equipment	:	331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Loca	tion:	Current Equipment Location	Business Unit:	Machinery
Created by	/:	Nathan Sak	Start Date:	9/22/2023
Kms:		2942	Stop Date:	9/22/2023
Hr:		2943		

Description	Quantity Labor Type	Rate	Total
NATHAN SAK	8.00 RT Shop Tire Tech	\$36.33	\$290.64
		Total Labor	\$290.64
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$290.64

Item ID	Description	Completed By	Reported Hours
85808	Change Tracks and sprockets	Nathan Sak	8.00

Work Order: Equipment: 46552

331G JD SKID STEER [8951]

Current Equipment Location

Work Location: Created by: Kms:

Hr:

Carla Merklin

2942 2943 Status:

Serial Number:

Business Unit:

Start Date: Stop Date: Transferred

1T0331GKELF390092

Machinery 9/25/2023 9/25/2023

Description	Quantity Labor Type	Rate	Total
DAVE HUNT	5.00 RT Shop Mech Field	\$59.34	\$296.70
		Total Labor	\$296.70
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$296.70

Item ID	Descrip	tion	Completed By	Reported Hours
64129	SOB - SF	PROCKETS	Brittinni Lockard	5.00
- 1				
Work Orde	r:	48758	Status:	Transferred
Equipment	:	331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Loca	tion:	Current Equipment Location	Business Unit:	Machinery
Created by	:	Brittinni Lockard	Start Date:	11/27/2023
Kms:		2942	Stop Date:	11/27/2023
Hr:		2943	·	

Description	Quantity Labor Type	Rate	Total
JOHN BARGEN	15.00 RT Shop Mech Field	\$59.34	\$890.10
		Total Labor	\$890.10
WIRING H [AT486624]	1.00 Each	\$318.95	\$318.95
		Total Parts	\$318.95
		Total Equip	\$0.00
		Total Cost	\$1,209.05

Item ID	Description	Completed By	Reported Hours
89732	8951 - CHECK OVER	Brittinni Lockard	15.00
Work Orde	r: 49596	Status:	Transferred
Equipment	331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Loca	tion: Current Equipment Location	Business Unit:	Machinery
Created by	Brittinni Lockard	Start Date:	12/22/2023
Kms:	2942	Stop Date:	12/22/2023
Hr:	2943		

Description	Quantity Labor Type	Rate	Total
JOHN BARGEN	4.50 RT Shop Mech Field	\$59.34	\$267.03
		Total Labor	\$267.03
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$267.03

Item ID	Description	Completed By	Reported Hours
91083	8951 - CHECK OVER	Carla Merklin	4.50
Work Order	r: 51186	Status:	Transferred
Equipment:	331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Locat	ion: Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	2/16/2024
Kms:	2942	Stop Date:	2/16/2024
Hr:	2943		

Description	Quantity Labor Type	Rate	Total
JOHN BARGEN	3.50 RT Shop Mech Field	\$59.34	\$207.69
HT .	•	Total Labor	\$207.69
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$207.69

Notes:

BAD COUPLER

Item ID	Desc	ription	Completed By	Reported Hours
93836	9051	- T/S OIL LEAK	Carla Merklin	3.50
93030	0931	- 1/3 OIL LLAN	Caria Merkiiri	3.30
Į.				
Work Order:	-,	52581	Status:	Closed
Equipment:	- +	331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Locatio	n:	Current Equipment Location	Business Unit:	Machinery
Created by:		Brittinni Lockard	Start Date:	4/1/2024
Kms:		2942	Stop Date:	4/1/2024
Hr:		2943		

Description	Quantity	Labor Type	Rate	Total
BARTLEY WEST	6.00 RT	Shop Weld Field	\$55.71	\$334.26
JOHN BARGEN	1.50 RT	Shop Mech Field	\$59.34	\$89.01
JOHN GIBERSON	34.75 RT	Shop Mech Rky	\$49.05	\$1,704.49
			Total Labor	\$2,127.76
CUTTING BLADE 84" (7') 8 BOLT 3/4 X 2-1/4" [KV12471X]	2.00 Each		\$175.88	\$351.76
			Total Parts	\$351.76
			Total Equip	\$0.00
			Total Cost	\$2,479.52

Item ID	Des	cription	Completed By	Reported Hours
96622	8951	- CHECK OVER	Brittinni Lockard	42.25
Work Order:	-51	53110	Status:	Closed
Equipment:		331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Locatio	n:	Current Equipment Location	Business Unit:	Machinery
Created by:		Andrew Matus	Start Date:	4/15/2024
Kms:		2942	Stop Date:	4/15/2024
Hr:		2943		

Description	Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO	4.00 RT Shop Lube	\$41.17	\$164.68
		Total Labor	\$164.68
CUTTING BLADE 84" (7") 8 BOLT 3/4 X 2-1/4" [KV12471X]	1.00 Each	\$159.34	\$159.34
FILTER AIR [AT359416]	1.00 Each	\$28.37	\$28.37
FILTER AIR [AT441536]	1.00 Each	\$32.77	\$32.77
FILTER AIR {CAT: 1106326, JD: KV16429, JD: AT171853, FLG: AF25557} [P828889]	1.00 Each	\$30.59	\$30.59
FILTER AIR {FLG: AF25558, CAT: 1106331, JD: AT171854} [P829333]	1.00 Each	\$18.38	\$18.38
FILTER FUEL {FLG: FF5006, NAPA: NGF3003, JD: AT101565} [P550090]	1.00 Each	\$5.59	\$5.59
FILTER FUEL {JD: MIU802154} [MIU805005]	1.00 Each	\$85.60	\$85.60
FILTER FUEL WF10369 [MIU802421]	1.00 Each	\$52.38	\$52.38
FILTER HYDRAULIC [AT495722]	1.00 Each	\$158.42	\$158.42
FILTER HYDRAULIC {DON: P174552, FLG: HF35299} [AT367635]	1.00 Each	\$169.99	\$169.99
FILTER LUBE SPIN-ON {LF3776, JD: 46495073, MIU800650} [P502051]	1.00 Each	\$10.00	\$10.00
		Total Parts	\$751.43
		Total Equip	\$0.00
		Total Cost	\$916.11

Item ID	Description	Completed By	Reported Hours	
		"		
96771	1000 Hour Service	Carla Merklin	4.00	

- * Change all filters.
 * Change engine oil.
- * Change final drive oil.
- * Change hydraulic oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

54848

Status:

Closed

Equipment:

331G JD SKID STEER [8951]

Serial Number: Business Unit:

1T0331GKELF390092

Work Location:

Current Equipment Location

Machinery

Created by:

Brittinni Lockard

Start Date: 6/10/2024

Kms:

Hr:

2942 2943

Stop Date:

6/10/2024

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	1.00 RT Shop Lube	\$41.17	\$41.17
		Total Labor	\$41.17
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$41.17

Item ID	Desc	iption	Completed By	Reported Hours
100108	0250	Hour Service	Anthony Rodriguez	1.00
	nge engin			
		e filters oil and air.		
	k all fluid			
	plete grea ple engine			

56528

Equipment:

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr:

2942 2943

Status:

Closed

Serial Number:

Business Unit: Machinery

1T0331GKELF390092

Start Date:

Stop Date:

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
LEVI LOOMIS	3.00 RT Shop Mech Field	\$59.34	\$178.02
		Total Labor	\$178.02
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$178.02

Item ID	Desc	ription	Completed By	Reported Hours
103416	8951	- CUTTING EDGE	Carla Merklin	3.00
Work Order:		56990	Status:	Closed
Equipment:		331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Location	n:	Current Equipment Location	Business Unit:	Machinery
Created by:		Carla Merklin	Start Date:	8/13/2024
Kms:		2942	Stop Date:	8/13/2024
Hr:	- 1	2943		

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	5.00 RT Shop Lube	\$41.17	\$205.85
		Total Labor	\$205.85
FILTER AIR {CAT: 1106326, JD: KV16429, JD: AT171853, FLG: AF25557} [P828889]	1.00 Each	\$30.92	\$30.92
FILTER AIR {FLG: AF25558, CAT: 1106331, JD: AT171854} [P829333]	0.00 Each	\$17.62	\$0.00
FILTER FUEL {JD: MIU802154} [MIU805005]	1.00 Each	\$94.21	\$94.21
FILTER FUEL WF10369 [MIU802421]	1.00 Each	\$52.50	\$52.50
FILTER LUBE SPIN-ON {LF3776, JD: 46495073, MIU800650} [P502051]	1.00 Each	\$7.41	\$7.41
		Total Parts	\$185.05
		Total Equip	\$0.00
		Total Cost	\$390.90

Item ID	Description Completed By		Reported Hours
89783	0500 Hour Service	Anthony Rodriguez	5.00

- * Change engine oil.
 * Change engine filters -- oil and air.
 * Change fuel filter.
- * Check all fluids.
- * Complete grease.
 * Sample all oils.

57939

Equipment: 331G JD SKID STEER [8951]

Work Location:

Hecks Pit

Created by:

Tevin Ferris

Kms:

Hr:

2942

2943

Status:

Closed

Machinery

1T0331GKELF390092

Serial Number:

Business Unit:

Start Date:

Stop Date:

Description	Quantity Labor Type	Rate	Total
TEVIN FERRIS	5.00 RT Shop Mech Field	\$59.34	\$296.70
		Total Labor	\$296.70
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$296.70

Item ID	Description	Completed By	Reported Hours	
105942	8951 - no hydraulic function	Carla Merklin	5.00	

58061

Equipment:

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location

Kms:

Carla Merklin

Hr:

2942 2943 Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Closed

1T0331GKELF390092 Machinery

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
JASON HOLLINGSWORTH	3.00 RT Shop Mech Field	\$59.34	\$178.02
TEVIN FERRIS	9.00 RT Shop Mech Field	\$59.34	\$534.06
		Total Labor	\$712.08
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$712.08

Item ID	Desc	ription	Completed By	Reported Hours
106118	8951	- change out idler	Carla Merklin	12.00

Work Order: **Equipment:**

59193

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr:

2942

2943

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Machinery

Closed

1T0331GKELF390092

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
AARON SAMUELSON	2.00 RT Shop Mech Field	\$59.34	\$118.68
		Total Labor	\$118.68
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$118.68

Item ID	Description	Completed By	Reported Hours
108297	8951 - FIX ELECTRICAL	Carla Merklin	2.00

Work Order:

62233

Status:

Closed

Equipment:

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

2942

Hr:

2943

Serial Number:

Business Unit:

Machinery

1T0331GKELF390092

Start Date: Stop Date:

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
AARON SAMUELSON	5.00 RT Shop Mech Field	\$59.34	\$296.70
		Total Labor	\$296.70
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$296.70

Item ID	Description	Completed By	Reported Hours
113993	8951 - chekcover	Brittinni Lockard	5.00

Work Order:

63802

2942

Equipment:

331G JD SKID STEER [8951]

Work Location:

Created by:

Randy Wearmouth

Kms:

Hr: 2943 Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
CORE ITEM - CAT BATTERY GROUP 31 12V 1000CCA [1152422]	1.00 Each	\$296.59	\$296.59
		Total Parts	\$296.59
		Total Equip	\$0.00
		Total Cost	\$296.59

Item ID	Description	Completed By	Reported Hours	
116726	8951 - DIRECT BILL	Randy Wearmouth	0.00	

Work Order:

64015

Equipment: Work Location: 331G JD SKID STEER [8951] **Current Equipment Location**

Status:

Serial Number:

Business Unit:

Closed

Closed

Machinery

1T0331GKELF390092

1T0331GKELF390092

Machinery

Created by: Kms: John Giberson

2942

Hr:

2943

Start Date: Stop Date: 2/20/2025 2/20/2025

Nork Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JASON HOLLINGSWORTH	2.00 RT	Shop Mech Field	\$59.34	\$118.68
JOHN GIBERSON	59.00 RT	Shop Mech Rky	\$49.05	\$2,893.95
			Total Labor	\$3,012.63
BLADE SIDE SHIFT \$EAL KIT [AHC19979]	1.00 Each		\$147.20	\$147.20
BUSHING ROD END BUCKET CYLINDER [H177195]	2.00 Each		\$61.92	\$123.84
CAP SCREW [19M8072]	4.00 Each		\$0.75	\$3.00
DEF COVER LATCH [AT472986]	1.00 Each		\$223.18	\$223.18
ELEC CO [57M7647]	1.00 Each		\$98.83	\$98.83
ELEC CONNECTOR [57M8164]	1.00 Each		\$2.35	\$2.35
ELEC CONNECTOR [57M8164][Custom]	1.00 Each		(\$2.35)	(\$2.35)
ELECTRICAL CONNECTOR HOUSING [57M7635]	1.00 Each		\$31.72	\$31.72
NUT [E75678]	1.00 Each		\$10.49	\$10.49
O-RING [T282124]	1.00 Each		\$31.66	\$31.66
O-RING [T282124]	1.00 Each		(\$31.66)	(\$31.66)
PIN BUCKET CYLINDER ROD EYE [T377560]	2.00 Each		\$137.55	\$275.10
SEAL - ROD END BUCKET CYLINDER [AT316728]	4.00 Each		\$23.09	\$92.36
SEAL [T404210]	1.00 Each		\$142.10	\$142.10
SEAL KIT 45.00MM-ROD 450/650J TILT/ANGLE CYLINDER/BLADE §LIDE CYL KIT {AH149813} [AHC11572]	1.00 Each		\$150.28	\$150.28
SHAFT SEAL KIT [AT465429]	1.00 Each		\$209.52	\$209.52
			Total Parts	\$1,507.62
			Total Equip	\$0.00
			Total Cost	\$4,520.25

Item ID	Desc	ription	Completed By	Reported Hours
117096	8951	Checkover	Jason Hollingsworth	61.00
Work Orde	r:	66067	Status:	Closed
Equipment	:	331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Local	tion:	Current Equipment Location	Business Unit:	Machinery
Created by:	:	John Giberson	Start Date:	4/15/2025
Kms:		2942	Stop Date:	4/15/2025
Hr:		2943		

Description	Quantity Labor	т Туре	Rate	Total
JOHN GIBERSON	11.00 RT Shop I	Mech Rky	\$49.05	\$539.55
			Total Labor	\$539.55
			Total Parts	\$0.00
		····	Total Equip	\$0.00
			Total Cost	\$539.55

Item ID	Description	Completed By	Reported Hours
120859	8951 Repairs	Carla Merklin	11.00
Work Orde	er: 67350	Status:	Closed

331G JD SKID STEER [8951] **Equipment: Work Location: Current Equipment Location**

Created by: Hermann Kukowski

Kms: 2942 Hr: 2943 Status: Closed

Serial Number: Business Unit:

Machinery **Start Date:** 5/15/2025 **Stop Date:** 5/15/2025

1T0331GKELF390092

Description	Quantity Labor Type	Rate	Total
HERMANN KUKOWSKI	2.50 RT Shop Mech Field	\$59.34	\$148.35
		Total Labor	\$148.35
IDLER [AT493205]	2.00 Each	\$692.00	\$1,384.00
WHEEL SPEED SENSOR {AT372235} [AT552279]	1.00 Each	\$643.81	\$643.81
		Total Parts	\$2,027.81
		Total Equip	\$0.00
		Total Cost	\$2,176.16

Item ID	Descrip	tion	Completed By	Reported Hours
123096	8951 che	ck over	Brittinni Lockard	2.50
Work Orde	er:	68137	Status:	Closed
Equipmen	t:	331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Loca	tion:	Current Equipment Location	Business Unit:	Machinery
Created by	/ :	Brittinni Lockard	Start Date:	6/4/2025
Kms:		2942	Stop Date:	6/4/2025
Hr:		2943		

Description	Quantity Labor Type	Rate	Total
MATTHEW GERVAIS	20.50 RT Shop Mech Field	\$59.34	\$1,216.47
		Total Labor	\$1,216.47
18" WIPER BLADE [20181]	1.00 Each	\$5.85	\$5.85
VAPORATOR [AT516371]	1.00 Each	\$943.16	\$943.16
FILTER AIR [AT359416]	1.00 Each	\$32.28	\$32.28
FILTER AIR [AT441536]	1.00 Each	\$34.44	\$34.44
WHEEL SPEED SENSOR (AT372235) [AT552279]	1.00 Each	\$643.81	\$643.81
		Total Parts	\$1,659.54
		Total Equip	\$0.00
		Total Cost	\$2,876.01

Item ID	Desc	ription	Completed By	Reported Hours
124501	8951	- CHECK OVER	Brittinni Lockard	20.50
Work Order	•	68697	Status:	Closed
Equipment:		331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Locat	ion:	Current Equipment Location	Business Unit:	Machinery
Created by:		Clayton Michelson	Start Date:	6/13/2025
Kms:		2942	Stop Date:	6/13/2025
Hr:		2943		

Description	Quantity Labor Type	Rate	Total
CLAYTON MICHELSON	6.50 RT Shop Weld Field	\$55.71	\$362.12
		Total Labor	\$362.12
		Total Parts	\$0.00
		Total Equip	\$0.00
	-	Total Cost	\$362.12

Item ID D	escription	Completed By	Reported Hours
125340 sv	reeper bucket repairs and hardsurface	Brittinni Lockard	6.50
Work Order:	69436	Status:	Closed
Equipment:	331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	6/27/2025
ims:	2942	Stop Date:	6/27/2025
Hr:	2943		

Description	Quantity Labor Type	Rate	Total
KALEB GATES	0.50 RT Shop Mech Field	\$59.34	\$29.67
		Total Labor	\$29.67
HYD QUIXY [AT406475]	1.00 Each	\$289.00	\$289.00
HYD QUIXY [AT406475][Custom]	1.00 Each	(\$289.00)	(\$289.00)
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$29.67

Item ID	Description	Completed By	Reported Hours
126458	8951 - QUICK COUPLING	Brittinni Lockard	0.50
Work Orde	r: 69601	Status:	Closed
Equipment	331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Locat	cion: Current Equipment Location	Business Unit:	Machinery
Created by	John Giberson	Start Date:	7/2/2025
Kms:	2942	Stop Date:	7/2/2025
Hr:	2943		

Description	Quantity Labor Type	Rate	Total
HUNTER TSCHETTER	4.50 RT Shop Mech Field	\$59.34	\$267.03
John Giberson	9.00 RT Shop Mech Rky	\$49.05	\$441.45
		Total Labor	\$708.48
#10 MALE ORFS X #10 MALE ORB STRAIGHT[Custom]	1.00 Each	\$2.51	\$2.51
#10 MORFS X #10 FORFS X #10 MORFS TEE[Custom]	1.00 Each	\$8.38	\$8.38
		Total Parts	\$10.89
		Total Equip	\$0.00
-		Total Cost	\$719.37

Item ID	Description	Completed By	Reported Hours
126815	8951 hydraulic leak	Brittinni Lockard	13.50
Work Order	69650	Status:	Closed
Equipment:	331G JD SKID STEER [8951]	Serial Number:	1T0331GKELF390092
Work Locati		Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	7/3/2025
Kms:	2942	Stop Date:	7/3/2025
Hr:	2943		

Description	Quantity Labor Type	Rate	Total
STEVEN MICKLEBORO	1.00 RT Shop Lube	\$41.17	\$41.17
	Tot	al Labor	\$41.17
	Tot	al Parts	\$0.00
	Tot	al Equip	\$0.00
	To	tal Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
125493	0250 Hour Service	Carla Merklin	1.00

- * Sample engine oil. * Check all fluids. * Complete grease.

Work Order:

71610

2942

Equipment:

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location

Created by:

Kevin Gordan

Kms:

Hr: 2943 Status:

Serial Number:

1T0331GKELF390092 Machinery

Business Unit:

Start Date: Stop Date:

8/13/2025

Closed

8/13/2025

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
KALEB GATES	4.75 RT Shop Mech Field	\$59.34	\$281.87
		Total Labor	\$281.87
FILTER AIR {CAT: 1106326, JD: KV16429, JD: AT171853, FLG: AF25557} [P828889]	1.00 Each	\$37.33	\$37.33
FILTER AIR {FLG: AF25558, CAT: 1106331, JD: AT171854} [P829333]	1.00 Each	\$23.22	\$23.22
SOLENOID 12V [VBC001012V]	1.00 Each	\$303.68	\$303.68
		Total Parts	\$364.23
		Total Equip	\$0.00
		Total Cost	\$646.10

Item ID	Description	Completed By	Reported Hours
130285	8951-CHECK OVER	Brittinni Lockard	4.75

Work Order: Equipment:

72486

331G JD SKID STEER [8951]

Status:

Closed

Serial Number:

1T0331GKELF390092

Work Location:

Current Equipment Location

Created by:

Kurt Wirda

2942

Kms: Hr:

2943

Business Unit:

Machinery

Start Date: Stop Date:

8/31/2025

8/31/2025

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
JASON HOLLINGSWORTH	10.50 RT Shop Mech Field	\$59.34	\$623.07
KURT WIRDA	3.00 RT Shop Mech Field	\$59.34	\$178.02
MAXWELL KRABBEN	3.00 RT Shop Mech Rky	\$49.05	\$147.15
		Total Labor	\$ 94 8.24
FILTER AIR [AT359416]	1.00 Each	\$37.78	\$37.78
FILTER AIR [AT441536]	1.00 Each	\$39.22	\$39.22
		Total Parts	\$76.99
		Total Equip	\$0.00
		Total Cost	\$1,025.23

Item ID	Description	Completed By	Reported Hours
131849	8951 put track back on	Jason Hollingsworth	16.50

Work Order: **Equipment:**

72881

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms:

2942 2943

Hr:

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Closed

1T0331GKELF390092

Machinery

9/9/2025 9/9/2025

Description	Quantity Labor Type	Rate	Total
KALEB GATES	2.75 RT Shop Mech Field	\$59.34	\$163.19
		Total Labor	\$163.19
FILTER AIR {CAT: 1106326, JD: KV16429, JD: AT171853, FLG: AF25557} [P828889]	1.00 Each	\$32.44	\$32.44
FILTER AIR {FLG: AF25484} [P829332]	1.00 Each	\$23.53	\$23.53
		Total Parts	\$55.97
		Total Equip	\$0.00
		Total Cost	\$219.16

Item ID	Description	Completed By	Reported Hours	
127869	8951 - CHECK VOER	Brittinni Lockard	2.75	

Work Order: Equipment:

72968

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location

*****Çreated by:

Jason Hollingsworth

۲ms:

2942 2943

Hr:

Status:

Closed

Serial Number: Business Unit:

Machinery

1T0331GKELF390092

Start Date:

9/11/2025

Stop Date:

9/11/2025

Work Order Cost Summary

Description		Quantity Labor Type	Rate	Total
JASON HOLLINGSW	ORTH	2.00 RT Shop Mech Field	\$59.34	\$118.68
			Total Labor	\$118.68
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$118.68

Item ID	Desc	ription	Completed By	Reported Hours
132880	8651	quick attach	Jason Hollingsworth	2.00

Work Order:

73429

Equipment:

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location

Created by:

John Giberson

Kms:

Hr:

2942 2943

Status:

Closed

Serial Number:

Business Unit:

1T0331GKELF390092

Start Date:

Machinery 9/22/2025

Stop Date:

9/22/2025

Description	Quantity Labor Type	Rate	Total
JOHN GIBERSON	18.50 RT Shop Mech Rky	\$49.05	\$907.43
		Total Labor	\$907.43
BUSHING ROD END BUCKET CYLINDER [H177195]	2.00 Each	\$63.91	\$127.82
SEAL - ROD END BUCKET CYLINDER [AT316728]	4.00 Each	\$18.05	\$72.20
		Total Parts	\$200.02
		Total Equip	\$0.00
		Total Cost	\$1,107.45

Item ID	Descr	iption	Completed By	Reported Hours
33663	8951	Sale prep	Brittinni Lockard	18.50

73941

Equipment:

331G JD SKID STEER [8951]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

2942

Hr:

2943

Status:

Serial Number:

Business Unit:

Closed 1T0331GKELF390092

Machinery

Start Date: Stop Date:

10/2/2025 10/2/2025

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	2.00 RT Shop Lube	\$41.17	\$82.34
		Total Labor	\$82.34
FILTER AIR [AT359416]	1.00 Each	\$37.78	\$37.78
FILTER AIR [AT441536]	1.00 Each	\$39.22	\$39.22
FILTER AIR {CAT: 1106326, JD: KV16429, JD: AT171853, FLG: AF25557} [P828889]	1.00 Each	\$32.44	\$32.44
FILTER AIR {FLG: AF25558, CAT: 1106331, JD: AT171854} [P829333]	1.00 Each	\$20.38	\$20.38
FILTER FUEL {FLG: FF5006, NAPA: NGF3003, JD: AT101565} [P550090]	1.00 Each	\$5.74	\$5.74
FILTER FUEL {JD: MIU802154} [MIU805005]	1.00 Each	\$110.54	\$110.54
FILTER FUEL WF10369 [MIU802421]	1.00 Each	\$60.47	\$60.47
FILTER HYDRAULIC {FLG: HF35299, DON: P174552, AT367635} [AT314164]	1.00 Each	\$90.61	\$90.61
FILTER LUBE SPIN-ON {JD: 46495073, MIU800650, P502051} [LF3776]	1.00 Each	\$8.45	\$8.45
FILTER TRANS HYDRAULIC [AT495722]	1.00 Each	\$170.50	\$170.50
		Total Parts	\$576.12
		Total Equip	\$0.00
		Total Cost	\$658.46

Item ID	Description	Completed By	Reported Hours	
134551	1000 Hour Service	Anthony Rodriguez	2.00	

- * Change all filters.
- * Change engine oil.
 * Change final drive oil.
 * Change hydraulic oil.
- * Check all fluids.
- * Complete grease. * Sample all oils.